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UNIT = |

Short answer type. Answer any 4 questions.

4

1. Find — if z = cos(x3y) + 2x°y2.

374
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2. Find the characteristic polynomial of A=
L

s sinx cosx dx -

3. Evaluate J
4. Find the area bounded by y = 2x3, x axis and the line x = 3.

5. State Cayley — Hamilton theorem. (4x1=4)
UNIT -1l

Short essay type. Answer any 7 questions.
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6. Evaluate Iim y :
(xy)>{(0,0) X+Y

7. Evaluate | cos3x dx.

g du.

8 Ifu=x3y4 x=13 y=2tfin
dt

9. Evaluate r 2x -4
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dx.
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10. Evaluate | cos*x sin3x dx.

11. Write the reduction formula for [ tan"x dx.

12. Find the area between y = 4x and y = x°,

13. Find the volume of the solid generated by revolving y:x%! 0 <x £ 4 about
X axis.
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;
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14. Find the eigen value of | 41 .

2 5
15. Reduce the matrix A:| 0 6} to the diagonal form.
16. Reduce the guadratic form 5xy + 2yz + zx into canonical form. (7x2=14)

UNIT - 1l

Essay type. Answer any 4 questions.

X y Z ., U cu cu
17. fUu=——+- "+ —— find —+ —+—
X+2Z y + X Z+ y X C;y ;7

18. Find the value of % giventhatu=y -~2ax + 2, x = at3, y = at.
19. Evaluate | sec*x dx.
20. Find the area of surface generated by revolving y = x4, 0 < x < 3 about X axis.

21. Find the length of the cardioid r = 2 - 3 cos8.

| | 4 3]
22. Find the eigen vector of A=| 5 o .
B 2]
23. Verity Cayley Hamilton theorem for A:fL2 3] (4x3=12)
o
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UNIT — IV

Long essay type. Answer any 2 questions.
24. Find j{;zxsinf’x cos’xdx .

T4 n 1
25, If o(n)=] tan’x dx show that ¢(n)+4(n-2)=—— and deduce the value of
¢ (5) .

26. Find the area of the region in the plane enclosed by the cardioid r = 2(1 - cosH).

57 Reduce the guadratic form 2x° + 4y? + 072 — Byz + 4zx — 3xy to the canonical
form and specify the matrix of transformation. (2x5=10)




